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When A and B are two independent events then P(AB):

a. P(4A8) - b. P(AUB)

c. P(A).P(B) d. None of these
Pearson’s correlation coefficient lies in between.............

a. O<r<1 b. -1<r<0

c. -1<r<l d. None of these

When the changes of two variable moves in opposite direction, the variables are said
a. Positively correlated b. Negatively correlated
c. No correlation d. None of these

Choose the range and co-efficient of the range of the following data: 63, 89, 98, 125,
79,7108, 117, 68.

a. R=61, COR=0.22 b. R=61, COR=0.33

c¢. R=62, COR=0.33 d. R=62, COR = 0.22

Which of the following are methods under measures of dispersion?

a. Standard deviation b. Mean deviation

c. Range d. All of the above

When the data is in rank order, the correlation is calculated by using;:

a. Pearson’s Correlation Coefficient b. Spearman’s Rank Correlation

Coefficient

c. Scatter Diagram d. None of These

What does probability mean?

a. The total number of possible b. The ratio of favorable outcomes to all
oulcomes in an event outcomes

¢. The chance of an event happening d. How certain an event will occur

Two unbiased coins are tossed. What is the probability of getting at most one head?

a. 3/4 b. 1/6

col/3 d. %

While computing the crude death rate, components considered are.............

a. Total number of deaths, Total b. Total number of deaths, Total Mid-
population year population

c. Total number of deaths, Total d. None of these

population beginning of the year

The age-specific death rates are calculated by using the formula:
ol v
a. 2251000 b. X225 1000
Px nPa
o () d. All of these
nPa
The mortality rate which considers children below one vear is known as.............
a. Crude Mortality rate b. Infant Mortality rate
¢ Age Specific Mortality rate d. None of these
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[ Descrigtgve]
Time : 2 Hr. 30 Mins. Marks : 50
[ Answer question no.1 & any four (4) from the rest ]

1. Discuss different measures of dispersion.. Distinguish between Absolute 8+2=10
and Relative Measures of Dispersion.

2. a) Mention uses of different measures of central tendency. 4+6=10
b) A survey has been conducted by a group of students on 20
households in a locality
As town in the following frequency distribution table. Find the
mode for the given data.

Size of Family 1-3 3-5 5-7 7-9 9-11
No. of Families 7 8 2 2 1
3. a)  Whatis the application Coefficient of variation? 2+8=10

b) Following are the runs scored by two batsmen A and B in different
Matches
A 80 95 85 55 45

B 75 90 05 50 35

Find who is a better run getter and more consistent player.
4. Define with example: 2.5%4=10
i)  mutually exclusive events
ii)  Equally likely events
iii) Independent events &
iv) [Lxhaustive evenls

A box contains 5 black, 7 red and 6 green balls. Three balls are drawn from 10
this box one after the other without replacement. What is the probability

that the three balls are?

a) All black balls

b) Two red and green

¢) One black and two red

d) Of different colours

g1

6. a) Whatdo you mean by correlation between two variables? 2+6+2=10
b) Describe different methods of studying correlation.
¢) Briefly describe uses of Correlation Coefficient.
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